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M & A (BN T - %)
N FIERTOR | FEREE FHIERE it MRk
1 B 19, 778, 600 38.6 19, 778, 600 37.6
2 M 7 E 5 169, 001 0.3 169, 001 0.3
3 A+ H oA & 20, 000 0.0 20, 000 0.0
4 B B R A & 110, 000 0.2 110, 000 0.2
5 gﬂf A Ajf P Efij 128, 000 0.3 128, 000 0.2
6 £ NHF XL & 380, 000 0.8 380, 000 0.7
7ML T H B B AT & 2,570, 000 5.0 2,570, 000 4.9
8 = 7 45 F A B & 26, 000 0.1 26, 000 0.1
9 B B 5L HUE B A A 4B 1 0.0 1 0.0
10 B8 5% M 62 B &2 fF & 45, 000 0.1 45, 000 0.1
11 .ET;FTTBJJEE fgz{ 14, 199 0.0 14, 199 0.0
12 # J7 %8 B &2 A & 152,012 0.3 152,012 0.3
13 7 2 B 60, 000 0.1 60, 000 0.1
142‘:;‘ ii{f%%zg 13, 000 0.0 13, 000 0.0
oHEe kAl e 267, 891 0.5 267, 891 0.5
16 fi JH BE & OV F Bk 873, 384 1.7 873, 384 1.7
17 IR S 11, 949, 339 23.3 1,215, 300 13, 164, 639 25.1
18 #8 X & 7, 320, 347 14.3 67, 500 7, 387, 847 14. 1
M E I A 6,911 0.0 6,911 0.0
20 % lhg & 26, 000 0.1 26, 000 0.1
21 #& A & 2, 450, 750 4.8 37,100 2, 487, 850 4.7
22 &k (€)1 & 3,239, 551 6.3 3,239, 551 6. 2
23 § I A 1,062, 914 2.1 1,062,914 2.0
24 T f& 584, 000 1.1 584, 000 1.1
w AN B G 51,246,900 100.0 1,319, 900 52, 566,800  100.0
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K FERTOR | Rk fHIERE Gl MR L
1 #% = # 355, 560 0.7 355, 560 0.7
2 % 7 6, 234, 240 12.2 6, 234, 240 11.9
3R s # 25, 228, 787 49. 2 711, 000 25, 939, 787 49. 3
4 fhr A4 # 5,657, 779 11.0 608, 900 6, 266, 679 11.9
5 97 i # 98, 177 0.2 98, 177 0.2
6 f 72N # 53, 796 0.1 53, 796 0.1
7 P T # 551, 077 1.1 551, 077 1.0
8 + PN # 2,991, 969 5.8 2,991, 969 5.7
9 ¥ %3] 2 1,457, 853 2.8 1, 457, 853 2.8
10 % H # 6, 173, 997 12.1 6,173, 997 11.7
1K £ # B # 1 0.0 1 0.0
12 A & Z 2, 243, 664 4. 4 2, 243, 664 4.3
137 fisi 2 200, 000 0.4 200, 000 0.4
o oA 3 51,246,900 100.0 1,319, 900 52, 566, 800[  100.0
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X FIERTORE | AERKEE fHIEXE it MR L
1 A : # 6, 163, 797 12.0 2,100 6, 165, 897 11.7
2% (G # 8, 868, 669 17.3 641, 700 9,510, 369 18.1
SIS S 335, 426 0.7 335, 426 0.6
4 $k B % 17,232, 183 33.6 650, 000 17, 882, 183 34.0
54 B & & 5,947, 020 11.6 26, 100 5,973, 120 11. 4
6% B AR F K 3,204, 724 6.2 3,204, 724 6.1
T8 EE B FEEE 1 0.0 1 0.0
8 /A & # 2,243, 664 4.4 2, 243, 664 4.3
9 4 ST 4 1,938, 416 3.8 1,938, 416 3.7
10 & F 4> 300, 000 0.6 300, 000 0.6
11 #% H & 4,813, 000 9.4 4, 813, 000 9.1
12 1 fii 2 200, 000 0.4 200, 000 0.4
o A 3 51, 246,900  100. 0 1,319, 900 52, 566, 800  100. 0
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£ FHIE%E ' e -
mk (55— 8BHE) ’Jfﬁ 1= W S nﬁﬁ Eﬁ
3R &£ B m, ?g? iﬁg%gg%ﬁﬂ%%ﬁﬂ%’%"%%%ﬁ%ﬁ 690, 000 |[H 14210/ 103%
E‘gﬁ%ﬁx « B RhL SRS 5 s R A S P 650. 000
WA IR D G E 40, 000
PRF TSR i s B A S A Bh 4 21, 000 |#4liBh4210/103%
e 608, 900| ..z, i ek e
5 £ & (37 100) Wl m A LA T T PR 530, 400
R aaF A VAT T F RS 198. 900 ] B 4142 10/103%
R ’ [ Al BN 4210/103%
Z Dt =S 1y 326,400 |EEAHEI4210/103%
T F B A S B S 4 = 100
4 ’
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(3) MinE

() (AL TH)
FEL EOBEE fHIERT MHIE#%
SR A EE 367, 000 367, 000
RO ORI FE O RS KW FE E STSEE 1, 482, 100 1, 660, 200
A &t 1, 849, 100 2,027, 200
3 EELHEDIKR
1) &£ (BN HHH)
X sy A 3 4R 4 A 4R
7 BoOAE @ gz Rsaga | B oagE | SRR LA
i B Bl % 3 4 8, 555 3 1,501 7,057
N feo =t ik sz At
s B w L 5, 896 1,791 579 7,108
BEOE O % wn B a3 1,031 400 140 1,291
e » A 4t M B 4, 865 1,391 439 5,817
— - - — ST .
% = uﬁj Tk F %én 43 /§ 393 593
ok 1t e it H & 232 21 211
# B R Bl M 4 13 12 1
3 e /s =Ju = ST %é i
ﬁf %& Ej% ‘%ﬁ 75@@”‘ %7 % i Z@ 1,042 143 181 1,004
H H #* LH o Sk 4 76 1 6 71
B a e ;A R E S 4 56 56 0
& = 16, 193 1,938 2,356 15, 775
(2) HmE (B 5 5 )
x4 4 3 R R AF 4 SRR
B R AR | s aag | BUER LA
it 2 = £ & 7,731 584 1, 157 7,158
5K &= {2 I 1& 48 2 46
R & Hh Vil & 10, 252 0 1, 020 9, 232
Tk i fifi hE 1% 164 65 99
A < I - SR B -S| 9,981 955 9, 026
Dk I fifi i & 107 107
s 2 18, 031 584 2,179 16, 436




